Leadership and Ideas for Tomorrow

## PURCHASE ORDER

To

\*

M/s K&B Enterprises

Order No

IBA-MC/PD/EM/206/0133/2016-17

Date of Issue

March 21, 2017

Date of Delivery

April 17, 2017

Place of Delivery

IBA, Main Campus

Total Amount

Rs.929,167.20 (Including GST)

(Rupees Nine Hundred Twenty Nine Thousand One Hundred Sixty Seven

& Paisa Twenty Only)

| S.<br>No. | Name of<br>Item | Description                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                           | Image | Unit | Qty | Quoted<br>Brand | Rate      | Amount     |
|-----------|-----------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-------|------|-----|-----------------|-----------|------------|
|           | Bed             | Overall dimension(LXWXH) 195cmX85Xcmx55cn - Four section beds with all welded enameled main frame construction from rectangular section steel tube of 16SWG steel sheets Adjustable back rest and leg section by means of two independent cranks with rectangular handled Removable chrome plated bed ends fitted with 10mm laminated plastic panenls Platform fitted with epoxy painted steel bars of 18 SWG Steel sheets The bed is munted on double ball bearing, swivel castors of non-tin and weather proof rubber. Two fixed at head end and two swiveling with independent breaks at foot end. |       | EACH | 4   | Winmed          | 65,000.00 | 260,000.00 |



| 2 | Over Bed<br>Table     | - Bumpers at all four corners Four Mattress holders (2 at each side) - 4" thick mattress 10 years warranty Winmed Fowler Bed WM2000 Height adjustable approx:.750mm to 1100 mm by lifting release bar under the table top by hydraulic mechanism or spring Top made of melamine sheet Winmed |   | EACH   | 4  | Winmed | 11,700.00 | 46,800.00  |
|---|-----------------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---|--------|----|--------|-----------|------------|
| 3 | Bed side<br>Locker    | Overall size of locker 40cm width, 40cm depth, 80 cm height. Made up of M sheet 18 SWG. Top made of laminated melamine sheet. One drawer. One Cabinet. Bade made of 1" round/square pipe. FINISH: Polyester powder coated finishing Winmed                                                   |   | • EACH | 4  | Winmed | 14,000.00 | 56,000.00  |
| 4 | I.V. Pole<br>Stand    | Heavy Weight based on 500 mm dia castors, powder coated base and column with telescope adjustment of 4 ports I/V rod of wire diameter 0.5. mm. Winmed                                                                                                                                        | × | EACH   | 4- | Winmed | 10,000.00 | 40,000.00  |
| 5 | Examinatio<br>n Couch | Frame to be one piece w mild steel powder coated Headrest to have step les angle adjustment from horizontal to 75°  2" Mattress of 2.5 lbs/cft density with water proof flame retardant sterilize-able cover                                                                                 |   | EACH   | 3  | Winmed | 33,800.00 | 101,400.00 |

5

|    |                        | Size Approx 2000mm<br>X 500mm with<br>standard height .<br>Winmed                                                                                                                                                                                      |       |      |   |               |           |            |
|----|------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-------|------|---|---------------|-----------|------------|
| 6  | Instrument trolley     | Frame constructed of stainless steel hollow pipe, complete with two stainless steel trays. Both trays provided with reinforcement as side guards for safety. Mobile on 50mm dia, twin whells. Size (60x90) cm                                          |       | EACH | 2 | Winmed        | 7,000.00  | 14,000.00  |
| 7  | Emergency<br>Stretcher | Single crank, rubber<br>bumber guards on all<br>sides, mobile on 23<br>cm dia. Rubber<br>Castors, removable<br>tarpaulin/Rexene<br>streched stretcher.<br>Winmed                                                                                       | 13 13 | EACH | 2 | Winmed        | 91,000.00 | 182,000.00 |
| 8  | Wheel<br>Chair         | Folding Wheel Chair, Detachable Desk Armrests, and Swinging Detachable Elevating Adjustable height leg rests. Footsteips made of Aluminu. With Safety belt. Seat width 38X43cm, made of high quality leather to withstand human load                   |       | EACH | 2 | Local<br>Made | 7,300.00  | 14,600.00  |
| 9  | Dressing<br>Trolley    | Constructed from stainless hollow peipe with two shelves of stainless steel, two stainless steel drawers under the top shelf. Stainless steel bucket and bowl with holders. Mobile on 100mm dia rubber castors. Push handle for easy movement.  Winmed |       | EACH | 2 | Local<br>Made | 6,900.00  | 13,800.00  |
| 10 | OPD chairs<br>S.S      | Chairs (Steel) fixed on<br>steel structure of<br>section 40mm<br>X600mm. For Fixing<br>3 seater structure with<br>seating area<br>approximately 51 Cm                                                                                                  |       | EACH | 4 | China<br>Made | 11,290.00 | 45,160.00  |

50

|        |                                     | X 50 cm                                                                                                                                                                            |  |      |   |                |                |           |
|--------|-------------------------------------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--|------|---|----------------|----------------|-----------|
| v<br>u |                                     | With sliver enameled finished.  The structure may be able to be fixed on the floor/replaceable.  Branded, Good Quality                                                             |  |      |   |                |                |           |
| 11     | Surgeon<br>Revolving<br>Steel Stool | Stool with 16 SWG stainless steel structure and seat with back of diameter 300mm. Height adjustable by simple spun mechanism. Height adjustment not less than 53cm to 68 cm Winmed |  | EACH | 3 | Local<br>Made  | 6,800.00       | 20,400.00 |
| Total  |                                     |                                                                                                                                                                                    |  |      |   | Rs. 794,160.00 |                |           |
| -      | 17% GST Total Amount                |                                                                                                                                                                                    |  |      |   |                | Rs. 135,007.20 |           |
|        |                                     | Rs. 929,167.20                                                                                                                                                                     |  |      |   |                |                |           |

## Terms & Conditions:

- Material of this order is subject to final inspection at the time of delivery.
- We reserve the right to cancel any or all the above items if material is not in accordance with our specification or if the delivery is delayed.
- Payment will be made through crossed cheque after the receipt of the bill and delivery of the above item.
- General Sales Tax will be paid on applicable items only.
- Liquidity damages at the rate of 2% per month on actual will be imposed on delayed delivery.
- The rate / item cost is final and no change what so ever will be accepted.
- Government tax(es), levi(es) and charge(s) will be charged at actual as per SRO.
- Competent Authority reserves the right to change / alter / remove any item or article or reduce / enhance quantity without assigning any reason.
- Invoice / bill, Purchase Order & Delivery Challan should be submitted to Finance Department.
- 10. Advance Payment subject to Bank Guarantee
- All Government taxes (including Income tax and stamp duty), levies and charges will be charged as per applicable rates / denomination of Purchase / Work Order.
- Stamp duty 0.35% for Goods against total value of Purchase Order will be levied accordingly.
- Warranty and Quality Assurance Certificates of Medical Furniture Items from M/s Winmad Industries will be provided by Supplier

Sr. Manager Purchase & Stores

· har my

G.M. Admin

Page 4 of 4